Aa—k (14) A23—h (%) Bla—k (2%) B2a—hk(24)
10:00 | 1 REB| VS [d#F 10:00 R[EB| VS [#FHI E1 dt#wE| VS| EEB 10:00 E1 h | VS| EEC
10:20 | %2 W | VS |mE 10:20 FEHFE| VS [dtwF %2 wEEN| VS| BERFA 10:20 %2 E#FEB| VS | D
10:30 | %1 EBA| VS [wFe 10:30 BELE| VS [#F B %3 d#E| VS| EEA 10:30 %3 E[EC| Vs |@nFB
1045 | %2 wmHE| VS| 10:45 REC| VS |[B#F %4 REB|VS|#FEfpI 10:45 %4 ME | VS| R
11:00 | %3 dt#HFE| VS| bE 11:00 #WEFI| VS |#EE %£5 EHMFA|VS| EEA 11:00 %£5 h | VS |E#FB
11:15 | 54 mHFE| VS | EEB 11:15 dt@E| vs | REA %6 dE|vS|aFEmI 11:15 %6 EEC|VS| V&
11:30 | %5 REA|VS |[B#HF 11:30 wEhx| VS | EEB %7 E[EB|VS|@#FA 11:30
11:45 | 5 #wEEN| VS| AR 11:45 REA| VS |[B#HFE %8 #wEFI| VS| EEA 11:45
12:00 | % EEB|VS| & 12:00 R[EB| VS |#FvE %9 dt#HFE|VS|EMFA 12:00
1215 | & dtw@E| vs | dk 12:15 EEC| VS [dt#F 12:15
12:30 12:30 #EGI| VS [#F B 12:30
Da—k(64) Fa—h(4%) Ca—h(5%) +4% Ea—h(3%)
11:00 | 1 b | VS |BEEE 11:00 R[EA| VS |B#FA £ EEB|VS|B#E 11:00 £ m#MFE| VS |dtEFE
11:18 | %2 #EEN| VS | DE 11:20 Rk (VS| EEB %2 dtE| VS| tk 11:13 %2 Rk (VS| DEF
11:36 | %3 g | VS |dtmEE 11:40 dtwE| vs | FI %3 wmEF| VS| DF 11:26 £4 DE | VS |EF
11:54 | %4 TEMF| VS |#FEFI 12:00 DE | VS | BEA %3 REC|VS|d#F 11:39 %5 EEB| VS |B#F
1212 | 55 DE | VS |duF 12:20 wE#FB| VS [ fhk 5| %4 g (VS| EEA 11:52 %6 g | VS | EEA
12:30 | %6 g | VS |#EfRI 12:40 REC| VS [dt#F | %5 EEB|VS| & 12:05 %7 dt#F| Vs | EEB
1248 | %7 mHE| VS| D& 13:00 I | VS |EHFA %5 REA|VS|it#F 1218 | - %8 EEA| VS| D4
13.06 | %8 wEFEN| VS [dLHFE 13:20 #E#EB| VS | EEB %6 EEC|VS| thg 1231 | | %o mHE| VS| sk
13:24 | %9 hk (VS| DEF 13:40 EEC| VS| &1 %2 DE (VS|dF 12:44 %1 t#FE| VS | EEA
13:42 | 8810 mHE| VS [dLHF 14:00 E#FEB| VS [t E %6 mHE|VS| i 12:57 hk VS |EEB
14:20 wEHEA| VS | R 4 | %3 EEB|VS| V& 13:10 DE | VS |BEHF
14:40 EEA|VS| ik = %5 E[EC|VS|EwFas 13:23 dt#HFE| VS| R
13:36 E[EA| VS |B#HFE
OH-1-2F= 7HN\—THI#%* 13:49 EEB| VS| 2&

O3FE=87/"\—TJD#H5HE

O4-5F=8RRI%¥3RE

OB6&E=13D/"\—TDIHA4ZHE

HKB~BEMN12: 20LIBDHEIIL D —HEELLY. LIY—FETT




